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(1) BEEIRE
EXUREERR 800 673 127
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ZTMEE 1,234,200 1,278, 300 -44,100
ERINEE 2,122, 845 2,663, 463 59, 382
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MR 2 2,718,753 1,438, 711 1, 280, 042
REEIRRE 42,715,476 40, 793, 680 1,921, 796
(2) BEER
E=XE 22,010,023 21,975,588 34, 435
BAIREEEGE1) 1,883, 261 1,833, 367 49, 894
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BROLHMERGE) 2,488, 600 2,215,488 273, 112
HmBESER0) 1,725, 626 1,609, 629 115, 997
HEEMEE G 2) 2,767,519 2,258,670 508, 849
BREEEEX(H#3) 115, 786 16, 046 39, 740
SABREX 300, 883 618, 959 -318,076
ZAXESEX 1,900, 000 1,375, 800 524, 200
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